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OLIEHOYHBIX Mpoueayp Ha 2024-2025 y4eOHblii Toa
HAYAJIBHOE OBILIEE OPA30BAHUE
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IMepuon nposeneHHs CenTa6pn OkTa6pb Hosops Jexabpb Bcero
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1 knaccent
Pyccknii a3bik 0 0 0 1 1 1
J1 v
HTEpaTypHOE YTeHHE 0 0 0 i I |
Matemarika 0 0 0 1 1 1
Oxpy2xatoLuit Mup 0 0 0 0 0
Tpya (TexHonorus) 0 0 0 0 0
H3obpa3utenbroe 0 0
HCKYCCTBO 0 0 0
Mys3bika 0 0 0 0 0
Dusnueckas KynbTypa
YALTYp 0 0 0 00
2 Knaccobl
Pyccinit s3b1k 1 1 0 0 1 1 2
JlutepaTypHoe uTeHHe 0 | | 0 1 1 5
HnocTpaHHbIi A3blK 0 1 1 1
(aHrnuickuii) 0 0
Maremartuka 0 1 1 0 1 1 2
OxpyokatoLuit Mup 0 1 1 0 1 1 2
Tpya (TexHonorus) 0 0 0 0 0
HM3o0pa3urensHoe
pasHTesIbH 0 0 0 0 0
HCKYCCTBO
Mys3bika 0 0 0 0 0
®usmyeckas KyJabTypa 0 0 0 0 0
3 kaacesl
Pycckuit s3bik 1 1 0 0 1 1 2
JIuTtepaTypHoe YTeHHE 0 ! I 0 | 1 5
HHoCTpaHHbli A3bIK 0 | 1 |
(aHrauiickuit) 0 0
Matematnka 1 1 0 0 1 1 2
OxkpysKatoLui MUp 0 0 0 1 1 1
Tpya (TexHo0rHs) 0 0 0 0 0
H3obpasurensHoe
. " 0 0 0 0 0
HCKYCCTBO
My3bika 0 0 0 0
Dusnyeckas KyabTypa 0 0 0 0 0
4 kaacest
Pycckuii s3blk 1 1 0 0 1 1 2
JlutepatypHoe uteHue 1 1 0 0 1 1 2
HHOCTEaHHIiIﬁ S3bIK i i 0 0 | 1 5
(anrauiickuii)
Matemartuka 1 1 0 0 1 1 2
OkpysKalouHii MHp 0 1 1 0 1 1 2
Tpyxa (TexHoorus) 0 0 0 0 0
H3obpasurensHoe
P 0 0 0 0 0
HCKYCCTBO
My3blka 0 0 0 0 0
®dusnueckas KyabTypa 0 0 0 0 0
OPKC3 0 0 0 0 0




